
Ø30 (LMC)

Ø26 (VC)

Ø49 (LMC)

Ø48 (LMB)

MINIMUM

1

2
3

X = -(1) + (2) + (3) = -30 + 26/2 + 48/2 = 7

Ø29 (MMC)

Ø26 (VC)

Ø50 (MMC)

Ø48 (LMB)

MAXIMUM

1

2

3

X X

X = -(1) - (2) + (3) = -26/2 - 48/2 + 50 = 13



Ø29 
(UAME)

Ø3
(pos. tol.)

Ø49 (LMC)

Ø48 (LMB)

MINIMUM

1

2
3

X = -(1) + (2) - (3) + (4) = -30 + 29/2 - 3/2 + 48/2 = 7

Ø29 (UAME)

Ø3
(pos. tol.)

Ø50 (MMC)

Ø48 (LMB)

MAXIMUM

1
2

X X

X = -(1) + (2) - (3) + (4) = -29/2 + 3/2 – 48/2 + 50 = 13

Ø30 (LMC)

4 3

4



MINIMUM

X = -(1) - (2) + (3) = -33/2 - 50/2 + 49 = 7.5

MAXIMUM

X = -(1) + (2) + (3) = -29 + 33/2 + 50/2 = 12.5

Ø33 (VC)

Ø50 (MMB)

Ø49 (LMC)

1
2

X

Ø29 (MMC)

3

Ø50 (MMB)
Ø29 (MMC)

Ø33 (VC)
1

2

X

3

Ø49 (LMC)


